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�� 8Q�PHPEUH�GH�YRWUH�IDPLOOH�HVW�LO�GpFpGp�VXELWHPHQW�G¶XQH�FDXVH�FDUGLDTXH�RX�LQH[SOLTXpH�" Ƒ� Ƒ�

�� $YH]�YRXV�UHVVHQWL�XQH�GRXOHXU�GDQV�OD�SRLWULQH��GHV�SDOSLWDWLRQV��XQ�HVVRXIIOHPHQW�LQKDELWXHO�RX�XQ�PDODLVH�" Ƒ� Ƒ�

�� $YH]�YRXV�HX�XQ�pSLVRGH�GH�UHVSLUDWLRQ�VLIIODQWH��DVWKPH��" Ƒ� Ƒ�

�� $YH]�YRXV�HX�XQH�SHUWH�GH�FRQQDLVVDQFH�" Ƒ� Ƒ�

�� 6L�YRXV�DYH]�DUUrWp�OH�VSRUW�SHQGDQW����MRXUV�RX�SOXV�SRXU�GHV�UDLVRQV�GH�VDQWp��DYH]�YRXV�UHSULV�VDQV�O¶DFFRUG
G¶XQ�PpGHFLQ�"�

Ƒ� Ƒ�

�� $YH]�YRXV�GpEXWp�XQ�WUDLWHPHQW�PpGLFDO�GH�ORQJXH�GXUpH��KRUV�FRQWUDFHSWLRQ�HW�GpVHQVLELOLVDWLRQ�DX[�DOOHUJLHV��"� Ƒ Ƒ�

¬�FH�MRXU���

�� 5HVVHQWH]�YRXV�XQH�GRXOHXU�� XQ�PDQTXH�GH� IRUFH�RX�XQH� UDLGHXU� VXLWH�j�XQ�SUREOqPH�RVVHX[�� DUWLFXODLUH�RX
PXVFXODLUH��IUDFWXUH��HQWRUVH��OX[DWLRQ��GpFKLUXUH��WHQGLQLWH��HWF���VXUYHQX�GXUDQW�OHV����GHUQLHUV�PRLV�"�

Ƒ� Ƒ�

�� 9RWUH�SUDWLTXH�VSRUWLYH�HVW�HOOH�LQWHUURPSXH�SRXU�GHV�UDLVRQV�GH�VDQWp�" Ƒ� Ƒ�

�� 3HQVH]�YRXV�DYRLU�EHVRLQ�G¶XQ�DYLV�PpGLFDO�SRXU�SRXUVXLYUH�YRWUH�SUDWLTXH�VSRUWLYH�" Ƒ� Ƒ�

NB : Les réponses formulées relèvent de la seule responsabilité du licencié. 

x 6L�YRXV�DYH]�UpSRQGX�28,�j�XQH�RX�SOXVLHXUV�TXHVWLRQV���LO�HVW�QpFHVVDLUH�GH�FRQVXOWHU�YRWUH�PpGHFLQ�DILQ
G¶REWHQLU�XQ�QRXYHDX�FHUWLILFDW�PpGLFDO�j�IRXUQLU��3UpVHQWH]�OXL�FH�TXHVWLRQQDLUH�UHQVHLJQp�

x 6L�YRXV�DYH]�UpSRQGX�121�j�WRXWHV�OHV�TXHVWLRQV���YRXV�Q¶DYH]�SDV�GH�QRXYHDX�FHUWLILFDW�PpGLFDO�j�IRXUQLU�
&RPSOpWHU�HW�VLJQHU�O¶DWWHVWDWLRQ�HW�IRXUQLVVH]�OD�VDQV�OH�TXHVWLRQQDLUH��TXH�YRXV�FRQVHUYHUH]�
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